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Want different intensities and ratios:
If A and B  have a gain difference:

error independent of intensity and ~ position
A and B offset difference:

error independent of position but larger 
at low intensity

A (meas) = (1 + ε)  A (true) + δ
B (meas) = (1 – ε ) B (true) – δ then
(A – B)/(A+B) (meas) 

=    ε      + δ / B                 [A= B setting ]
= (8/9)ε + (4/3) δ / B  - 1/3  [A = ½ B setting]  &
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[A=B] – [A=0.5B] = 1/3 + ε/9 –1/3 δ/B   > note how  the effect of the scale error is reduced a factor of 9 and 
the offset error by 3 when comparing the A=B and A=0.5B measurements (bottom right plot).


	

